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Instructions for candidates:—

R
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3

This exam s in two parts
Part-1 is related to Mental Abl]lty Test.

Part-II relates to Scholastic Aptitude Test. It consists

of ten subjects, details of which are given below:-

1) Physics; it) * Chemistry:
iii) Biology; iv) Geography
v) History; - vi) Civics;

'vii) Mathematics  viii) English

ix) Punjabi x) Hindi
Each question carries one mark. All questions aré
compulsory. '

You have been provided with a answer sheet
- (OMR) for this question paper.Darken the correct

option of each question in the answer sheet (OMR)
with black/blue ink.

Rough work may be done on the provided blank
space. ' :

There is no negative marking in this question paper.

Use of white fluid on OMR sheet is not allowed.
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PART-1

MENTAL ABILITY TEST

faaew (Es 1-4) 35 fad I{ngﬂ"ﬂﬂ"' @ Directions (1-4) there is a number series following

st f&st aret &, wrat f&f9 fuw 31 St °f 39
Bﬂﬁ?mﬁmf‘eawhﬁ‘nﬂ%aﬁl

1. 247,02 s,

a) 26
c) 37

3, 1,1,4,8927 oo,
a) 64 :
c) 125

4.  28,33;31,36, .......39
a) 32
c) 38

faad® (LS 5-6) Jot &3 o wugt/mat &
w5t féa fanfas gy dur € wawe &1 few gu
dur § usT q9x BE U wfyd/vw uIT J

'b_a__aab_ab_ —
a) aabba
¢} -babab

5.

6. 1001 _110_11
a) 101
¢) 100

b)

d)

b)
d

b)

d

19

23

29
7

16

34
40

ababa
abaaa

110
011

1.

249102 o, o
ay 15 b)
¢y 17 dy
11,13,17,19,23,25 vecrrrne

Ca) 26 b
c) 37 d)
1,1,4,8927 oo, |
a) 64 _ b)
) 125 d)

5

1) aabba - b)
¢) babab _ d)
— 100t _ 110 _11

a) 101 b) -
¢} 100 ' 9

28,33,31,36, ......,39

a) 32 _ b}

c) 38 - d)

b'_a_aab_ab_. _—

a pattern. One place is left blank. _Find out the
correct answer from the options.

19
23

29

27

16

34 .
40

Dii’ecti_bns (5-6) The letters/mumbers .gi\jen below.
follow a definite patteren. Find out the missing
letters/numbers to complete the pattern,

-ababa
abaaa

110
011



faedw (Yus 7-8) AAT +’ WIBH ‘-, ‘-’ HIBE

‘W4 HIBE O, ’m&r”strm’rhamai'l

7.

10.

11.

12.

13,

11+15x3+6-5 |
a) 55 | b) 54
c) 84 - i

14x2-6+10+4%2 -
a) 1 | b 16

¢y 4 . d 30

797 85 + 3 x, W 4 T 5 T wun few
nwaeﬁaafes’rwéa*ﬂafaﬁmﬁhﬁ‘
forast mitase st &7
a) 5x4+14 =34
b) 5x4+14-64
2) 5x4+14 =84
d) 5x4+14=74

anehy B AW RS Qued uht wiF Ist @

F 152 mare 31 % e oW g &R
fefenradt T3]

a) 30 by 31
c) 28 d. 29
ma’ta”r%? o |
‘a) SIElEd b fEme
ity

c)n"_:z"a"hw_ o d)

ﬁ@mgwqum‘aa%w
&v mee oF faoer gd mas 3 Qe )
a) Client ' b) Castle

¢) Dazzle - d)  Face

I mes 3 wer ¥
. a) KREEMAIJI b) KREEMII
KREEMJEE

¢) KREEMAIEE d)

Direction (7-8) If ‘+’ mcans ‘-, if - mezns ‘-I-

ieans ‘', ‘=" means ‘<’ then find correct alternatwe

7.

10.

11.

2.

13.

11+15%346-5 _
a) 55 b) 54
¢) 84 . d 47

14x2-6+10+4%2
a) 1 by 16
) 4 & 30

" If “he given inter-change namely: Sign + and x,

and numbers 4 and 5 are made ir signs and
number which one of the followmg equations would
be correct

a) 5x4+14=34

b) S5x4+14=64

¢) S5x4+14=84

Cd) Sx4+14=74

Jasdeep ranks | 5th from the top sidt_é and from the

bottom side in a class. How many students are
there in the class. -

ay 30 ' , by 31

c) 28 d 29

What is most essential in a train?
a) Driver _ by
¢) Passengers )

Engine
Fans

Arrange the given'words in the _alphaﬁatica] order
and choose the word that comes in the second

place.
a) Client b)  Castle
¢) Dazzle d) Face

In Telephone directory. which of the following word
will appear at the third place.

a) KREEMAI = b)
¢). KREEMAJEE  d)

KREEM.1I
. KREEMIEE. .



14,

Lo fEw S

15.

- l16.

fares ==t fe'e v 6 fad av=t 3 Afez T A

f&g »a 6 3 ufas™ W 4 Qe & W
e &9 v 2 wr@er 32

432 526 346 462 123 635 462 734

a) f&w

m

by ¥
g9

o fewrarst 3 ot yaw <& wier 3, fog 49
uH ys & €9 3 fa it geer &1 feg gwor ¥R
UH ¥E o G0 3 faoft geer 91 Ine @ fig

3 fomast g faost femr few 1
a) €39 | by Usw
¢) THT dy Uy

=on 8 fait. Tux =8 yw dzer § fag Qo
Ad UR ¥ #ter 3 w3 4 faxt. Sser §, feg
v mud AF UTH yE Her & w3 g faut.
deer 31 wefda/dae @8 fie F oiow fad
faraft, € gat 3 9
a) 7faxt.

b efah
c) 41%('}-ﬂ‘ _ d)

8 far ot

ferew (yes 17-18) I5t S8 o S5 939 §
fu*mwuﬁ‘m@fé‘é‘mﬁ“qn#%%a

R d

17.

fusrst o5 yg arfex &9F 98 § sow@er 32

a) A by H
¢ B d F

18.

arfex =t 95 (g #9d 591 95 § eaA@Er 37
a) F b) E
¢) G d H

15.

“16.

~ ¢) South _ d)

How many 6s are there in the _follbwing number

- sequence which are immediately preceded by 4

and followed by 2.

432 526 346 462 123 635 462 734
a) One b) Two
¢) Three d)  Four

A man walks 3km towards East, Then turning to
his left he walks 3 km. Again turning to his left he
walks 3km. In which direction is he from the starting

point. - '
a) North - : b) - West

East

Waris travels 8km to the south. Then he turns to
the right and walks 4km. Then again he turns to
his right and moves 8km forward. How many km
away os he from the starting point.

a) 7km . b)  6km

c) 4km d}  8m

Direct’ons (17-18) study the following Venn t_liagrain
carefully and answer the questions.

17.

18.

Players

Singers
Which of the following represents boys who are
plavers but not singers?
a) A . b H
c) B ' d F

Which of the following answer represents players
who are also singers but not boys?

a) F b) E

¢) G : : d H



19.

20.

21,

22.

23,

a) APIL

o 7

Fet »iur o fd fsart v de ser@eahnh
a) 60° | b)  80°
¢y 75° d)y 90°

PRINCIPAL AuE 3 95 fafinr f&5* faosree
BT g=four A e ¢ o
b) - CIPLA
¢) - PLANE - d) PLAIN

fear ggaar st @ Y39 Ha U39 € I I

€4 ggear »rent Her &t gareT §7
a) 99 by Y39
c)  €er dy fuzr

b 6
c) 5 d 8

5 fafit fod* faoar fiaq fefs, dle- 23,

wgAr@er & -

foaen (yrs 24 5‘*_25) feust S o 891
24, - -
. a) 8% b)

-

ug

o) T d s

19.

20,

21.

22.

¢} PLANE d)

At what angle the minute and hour hand of a clack
are at 3’0 clock. | '

a)  60° b)  80°

¢} 75° - d)  90°

Which of the following words cannot be formed
from the word PRINCIPAL. '
‘a) APIL - b)  CIPLA

PLAIN
An old man’s son is my son’s uncle, then what is -
relation of old man to me, '

a) Brother ) by Son
¢) Grand father d)  Father

How many triangles are in the given figure?
_ b)) 6 o

4 8

a)
0 s

Which one of the following figures represents the
relationship among Science, Biology, Physics

" Directions (24-25) Find the odd one out.
2, -

Paiht
Yellow

2) Red b
¢} Green : d).



25.

26.

27.

28.

29.

30.

¢) sfive 9

a) fAg w3 bt
by JEMIF TEIR
¢) w3 ge.
dy . 5t wma gt

forit 3T f¥ 467 T waw “pIantS are green” T,

25,

26.

485 €T HIY “green xsgood”% M3 639 TTHIE .

“they are playing” J, I f&'ﬁ:l’*ﬂ"’ feo “plants”
or &% ¥R |

a) 4 ' b) )

cy 7 : ~dy 3

fait &% g fS9 & WATER=YCVGT ¥ 3+

€7 g f¥9 FIRE @ &% &1

a) REFI . b)  ERIF
¢) IRFE - d) HKTG

fﬁwazrwfé'aGUEST & 53@. sz fsﬁw
wieT & Wa MEAN & 6@4# fafamr wher & feir
dF g f&9 SAME &' 85 B4 '

a). 4 6@ ) b) 46@
c) 6@ d 5 6@
ASd AN = 14 BM =26 I CL ............ 3
a) 38 a by 42
c) 28 ' d 36

few eadt feg % vda f¥a fite f&g god &
H1E 9% Fag Iadt 8T &% 10 firet i ydt
wm?éﬁéﬁ%ﬁw%ﬁ%m?
a) 9fie . b sfie
4 fire

fmé‘rr(z{msal 32) & 9HF AB,C,D,E w3 F
o f&e, Fa9 & d'vv 5 v av § 88 75
ED € 7 UR &, C,A w3 B @ fFea9 &, FA
w3 E & fwars 3

31.

Be W uRds ¥z 7

ay A . b) D
) E d C

27.

28.

29,

30.

" ¢) IRFE d)

a) 9 minutes b)

a) ‘Head and cap

b) Hands and gloves
c) Feet and shoes
d) .Dhoti and Chest

In certain code language meaning of 467 is “plants
are green”, meaning of is 485 is “green is good”

“and meaning of 639 is “they are playing” How is

“plants” written in that code language.
a) 4 : by 6
¢}y 7 d 3

In a certain code language. If WATER=YCVGT -
then find the code of FIRE.
a) REFI b) ERIF

HKTG

In a certain code language GUEST is written as
53@ 2 and MEAN js written as 6 @ 4 #. How is
SAME written in that code? -

2 4 6@ . b 16@
¢y . 36@ d S 6@
If AN = 14, BM = 26 then CL i$ cceoooee..
a) 38 b 4
c) 28 d 36

. Flowers ln a basket get doubled in eve_ry' one minute.

If the basket gets fully filled in 10 minute than in
what time was it haif filled
5 minutes

¢} 8 minutes d) 4 minutes

Directions (31-32) six students A,B,C,D,E and F
are sitting in'a closed circle facing the centre, E is
to the left of D, C is between A and B, F is between
Aand E, '

3L

Who is to the left of B?
a) A b) D
¢) E | d C



32. CeWa uUR d= g &7

‘a) E b) F
¢) B d A

foaew (yus 33- 35)3‘6"1:5‘3'1(!?:"'1%?1(!??
fé® (1) ot mep/AEs 79

fi &
L v
pjass ]
%)

ki

33, o KA T
’ 3 5
p—_— _ _
a) 28 by 38
c) 48 ' d 100
4 # 20
34,
T | 13
8§ 6 ?
a) 17 b 19
¢) 12 _ d 16
E o 3
. A
Fii I{j/ £ “’H ) {(f‘ Q \\
/'f \ gj \’\ ;"f . \"\
a) 24 by 28
c) 30 o d 32

- fogdw (Yus 36-37) 05t &3 a8 ywe waw

wﬁamﬁwwmfé%aﬁwhmﬁ
‘a,be w3 d RS &F '

36. SCIENCE S
~ a) 2CIEMCE - . b) 2CIENCE
¢) SCIEMCE d) .SCIENCE

37. SCHOOL . _
a) SOHOOL b) SOHOOJ

2CHOOL

“¢) 2CHOOT d)

32, Whois to the right of C.
a) E 'b) F
¢c) B : d A

Directions (33-35) what will come in place of
question mark (") in the followmg questlons'? '

33  Q&

a) 28 . by 38

c) 48 | d) 100
34. _ 4 1 8 |
7 3 13
s | a | v

a) 17 by 19

¢} 12 ' d 16

4 [ k]
) 24 by 28
o) 30 49 R

Directions (36-37) In each question, choose the
correct water image of words from amongst the four
alternatives gives as a,b,c and d. .

36. SCIENCE | ,
a) 2CIEMCE b) 2CIENCE
¢) SCIEVUCE - d)  SCIENCE

37. SCHOOL |
a) SOHOOL b)  SOHOOU

2CHOOL

¢) 2CHOOT - d)



feg@w (Uwa 38-39) It f&'S a8 YWS W€ Directions (38-39) In each question, choose the
T Sia TouE & I{Eﬂfﬂ‘a f&3 arg urg feasut correct mirror image of words from amongst tie
a,b.c M3 d f&FF T : four alternatives gives as a,b,c and d.

38. OFFICE o o ~ 38, OFFICE
~ a) ECHAO b HOITI0 a) - ECTT10 b) HFDITHO

¢) 4CIT10 ~d) HCIFFO - ¢©) HCITIO _ d) ACIFFO

39. CLASS. - - ) - 39. CLASS .
‘a) 2AID. b) 22ALD . a) p2AID © b)) 22ALD
¢} 22AJC - d) SSALC 9 geasc. 9 SSALC

40, F foret St & wfggtur f¥Stor msﬂw IS 40. Two positions of a dice are given which number
faaar #a Qud (Top) T2aTm AAT I5T (Bottom) would be at the top when at bottom is 47
A WA 4 TR o .

a) 4 b 3 : ~a) 4 : | b 3
¢y 5. - D 6 | R D 6

ar# fdggt ¥ Directions (41-42) in each of the following sets of
T, Qug w1 figures, select the one that is different from rest.

O -

™ @ W W M@ TR
- 0@l - ©@0|0®
™ @ 9 4} R - ~m C @ ) ) m

fa99F (U¥s 43-44) fagar @39 fdgs, Yw . Directions (43-44) which answer figure will complete
fifzs fde &=z ot sty § Yo~ sdor? the patteren in the question figure? '
43. y®s 3w N 43.  Question Figure: '

. . e ) - .. . : -

Answer Figure:

i . . 4
™ TR ™ m oW W



44. & 539 ' | 44.  Question Figure:

@% @

g9 foow: _ _ Answer Figure: o
V4P 4N
O . @ (@) (4} T 2. @ @
fseew (YHE 45-46) ndfozs fdaq fé‘@' grg  Directions (45-46) select the related figure from
feasut feud* g&1 _ the given alternatives.
45. yws foaa | ' ' S 45.  Question Figure: S
XY 2 | B
| Q'Ba’ fg‘é"d' ' - o ‘Answer Figure: | _
AP R
w o e W ) m @ @ @

46.  Question Figure:

) WY

Answer Figure:

) - . w @ o’ @ - |
&2 @ yms fdgat & Directions (47-48) the figure in each of the
f&3 =g feasut questions follow a series, select the figure from the

given alternatives which would continue the series.
47.  Question Figure:

[ AVIAL?

Answer_Figure: '

AT AT

moe o’ W i @ e W

« &
*




481{;,;;%33 | o . -Quegtianigm: N
Nobiry [QlolN]

e CE Answer Figure:

SR EDEE

W@ e W (h (2 (3) (43

fsgewm (U:H?; 49-50) fex =gara@ d1% wAF  Directions (49-50) in each question square/circular
¢ gas & fﬂ? Jygt & FH-57% Higw ooy paper has been folded as shown with the dotted lines
T A fa fé’aa g Tamfenr famn' T, fag fem  in the given figures and last figure shows how the
& »yat fdag € wmigwe dfeowr famrrl FTIE paper has been cut. How would the paper look like
ime Quis fad faor mator? . when unfolded?

49, yms fogw: o - 49.  Question Figure:

=T

. A SN s

CECRCECE | ~ Answer Figure: _
W e wm @ U
50. yws fodga: - o 50. Question Figure;
3 Ve '
L g i
. H H - Jd
CECRCERS | | : - Answer Figure:
5% o o 5 ®  Sfll° e o o0 o 1o % Sl1e® %l e,
J ©0 ?:‘*o 3% og oogoo o ? oo © %‘o a1 1% o°. o
@ 6 @ | m @@ W



51.

52.

53.

54.

- PART-II

SCHOLASTIC APTITUDE TEST

- fefnt € GoreT € Yl
| i et/ English

Q.51-55 Choose the correct Wi_)l'fd.w.hich best fills ss

the blank from the four options given.

of roses.

a) Heap

b) Bouquet
¢} Row

d) Pack

- The Minister’s wife was presented with a ..........

He takes great care of the young plants in this

"~ b) Astrologer

¢) Admiral
d) Magistrate

‘a} Hostel
b} Resort
¢} Nursery
d) Ward
- The thief was brought before the .......... in the
court. ' : '
a). Doctor

T went to the hdspital to visit my sick brother but T

forgot which ........ hé was in,
"a)  Ward

b} Hostel

¢} Studio

d} Resort

10

Every ........... of the country above eighteen years
old must cast his vote in the elections.

a) Criminal -

b) Citizen

"¢} Pedestrian

d) Warden

Q.56-59 Replace the underlined word with another

36.

57.

58.

of opposite meaniz ¢ :om the options gi-en.
The shoes | am izaring are too tight. .
a) Big

by Heavy
¢} Large
d) Loose

~Is the statement in the passage true?

a) Fale

by  Correct '
¢) Real

d) Genuine

Read the following phrases and pick out the
one that makes the correct sentcsces. '
as iffwas in a hurry/hy worked/he

a) -.He worked was in a hurry he as if.

b) He as if he worked was in a hurry.

¢) He worked as if he was in a hurry.
d). He worked he was in a hurry as if,



59,  The food /music/of life/is
©a) The food of life music is.
b) Music is the food of life.
¢) oflife is music the food.,
d) Is music of life the food.

Q.60-64 Read the following passage and answer the question giveh after-it,

~ In the year 1556, India was ruled by a great king. He was called Akbar, the great. He was very small when he
. became the king but he was very wise. He grew up to be a brave and vatiant kin g. He was an cxtraord inary ruler.

He decided to make India a great and powerful country. ' ' -

Akbar allowed both Hindus and Muslims to follow any religion they liked, He loved music; learning and art and

e encouraged people to do so. He even worked towards spreading anew religion called Din-i-Ilahi. He was a great.
. builder too. His famous buildings can be seen in Agra and Delhi. People liked him a lot. That is why they called hlm
_ Akbar, the great. : :

60.  This passage is about a famous kmg called ..........

a) Akbar
b) Din-i-Hahi
c) India
d) Babur
61, He was very ......... when he became the king,
a) OM | ‘
b) Brave
¢) Small
dy Weak
62.  He started a new religion called ............... ..
' a) Hinduism
b) Buddhism
c¢) Sikhism
d) - Din—i—Ilahi

63. . The phrase extraonimary ruler’ means Akbar was ............. .
' -a)  Alazyruler '
- b)  Abuilder

¢} - No ordinary ruler '
d) Unfair ruler

64.  Akbar’s famous buildings can be seen in Agra and ...ccoocvvereeen

a) Chandigarh
b) Delhi :
- ¢). FLudhiana

d) Patiala

1



I=TEY/Punjabi

s &-(65- 72)WwawymmwaﬁmwmmﬁMF
w31 9F ot f53 3 ot I3 79w T ot dteere aee g5 Garet due T Ot § wen e
JIug 7 @aT § mig T Sy S & 3+ €8 @97 € {Y T I I faamer I fer $F wadet Wt el
St Fat wat Wt et oF & @t 31 wrs-gmr €0 §ET 3 7 o viust vt @ Fu 5% ot fiver 31 Fiws
T s wag= 90 foR &5t ot gifoe ager T s @ § wa-amr g i@ fionrs yare@e fEw
TS e 7, €U fan J9 g S st e iaret € frgve a=t gt €9 fiw A & wF fomeT I @ M
frowe afecge 369 A & d=% 3 G »uShdT Wwa-gnet fw 9t gusT &St 31 AvEt Faa <8, O
Uiz fee, mmah@mwwﬁmw@sv&ammm

- GyET 1¥ § ug & 9o fed ywet ¢ Qv fe6- |
65. WW@'W?WWWWWWW@Wm

(a) UArst - (b ufemaat
(c) Usit : (d) Farst
66. Wwwwmmmﬁwmamﬁvm?
(a)  Umrst (b feE
BECEE Ci | ) QEw
67. -w—wemgmﬁwmgmmﬁﬂaﬁa?
: {a) - MAWHT _ (b fr
¢) Gaw Y daret
68. _wéﬁﬁm?w’mﬁmﬁrwm‘ﬂwmﬁwma?'
(@) Uered (by  WragwHT :
(c) faet _ (d) It
69. gt g &t fagr fapr g7 |
(@) mETHT S (b)) WS
(¢) WI-wHT . (d) gmieE

70. _wﬁmﬁhﬁwaﬁwaﬁm?

(a) IR - (b et
(© o=t N C Vi
71. WWW%WWWWWWWW?
(a) FEFefw ' (b) o= que Tt
(o) U uIs i | () - FfeegsT T
72. méﬁ%@wv%w@swﬁhﬁwvwaﬁ?ﬁmm B
(a)  BrE@Et (by fost

() WI-gwH (d) Qe

vy



ymE & (73-77) Y IR o= At iy Iy € wars ORERE ms, frost & wiu@ wiela waat gvme it €
WO urafHe drg & frurfea i iy & fidt fée endu dee @t yar geet | fog gan wiet gt femmdt =8 fes
#ififIre ueret wiet /it faw e wry g2 @At wife € an afon aaw w18 | »ira & 1599 8, § wifigans fig
I naed € fegary Iferas rrfoy § sefenT Iy & fivd ywrg qafent g9a3vss, aogv3ug 2 Y Jedifaue
wife 3919 IR | U & JF Sow 8 At €AoY A1Y gow 3 gafentt o 5T =8 nius QUSN ‘SY @St &g

- mieY fog, Wfﬁwgmmﬁmmé?ﬁvfwmaﬁmﬂwmwﬁmww%ﬁa

FHE HTHIH Hfepomy
@ﬁaﬁ&ghﬂmmuqmaavﬁw&m%ménﬂfaam/%aw&ﬁw
73. aaaammﬁrae’rﬂwwfaﬂaa’ta’r?
- {a) J@EFEITSTH

(b) @g-ww;ﬁ

{¢) P WIAS o= At

{(d) Wb Mg

74. @gwﬁﬁ%hﬁwm?

(@ dfEus
(b) eRIUHEST
(¢) . HATygr

d)  fidtygr

75. mmr&amwp
(@ s : :
(b) IIEITS
(¢) W&Tyd Ao
(dy iy vdeg fegaw

76. T gfores Aoy €t stg faas &t ?
(a) g Hers €< Fl
(b) g »HISH A
C(¢)  wEl b lE
(d) = g sax &= Ht

77, mmmeea’rafaaarmufmﬂ
()  oHe WA

(b) foggwmDT -
(¢) i nimey

(dy  grafue MmHEH

13



et/ Hindi

e 7. 78-83 Trwtfeaa ey ®i uget Wyl w1 R fawedi # ¥ ‘

TF A AFE St T AT W M) 9T SR AgA WHGR GPIT §IT | T FopEl WA h TH s
ff 3% @A ol faerd mn o) vRlER A S of v W fem) w=m W9 Frow @ Twl 98 T
FOWAE E N IR AT Ry A AN @ A o T MR R R A, @R IR

| B T Y e o, T e § W F UE T eE o @ dm ¥ T wet aen €

W YRR Y R st 7 9 fran’ Yew S Y 5= W T ¥ o fam) g g% T8 v o fF 3
& Tew o §, i o 3ER SR T B T TEes © e SR I o U9 ofR o wR SweR
¥ 2 T, ‘ﬁﬁmmgm@wmm@@ﬁﬁlm%ﬁ@%mmw
e W@

78. m%mwﬁrﬁ?ﬁdm%—

(a) IFE S A AT ) %maﬁ'mﬁ_q'
(©) & 3w i ' . | (d) T'® St R yElER

79..ﬁma?m%wﬁﬂﬁﬁmmﬁ?

(a) sl . (b wW
- (© SINIE] | () iﬂ'“T
f0. J6E W 3 71 W TR § w0 W
(a) 19 3ir Yfaw : C(by 9 3k wEm
(c)ﬂqaﬂ'{ﬁma | | (d) ﬁ'—taﬂ"(mmqﬁ@f
sx.’ﬁwnﬂamiwmwm |
(a) E® St A | NGO
(¢} WEER B (d) TR A
82. s W 0 ferodfaneft |
(a) AT (b T
(c) IR - - (d) wRem
ss.ﬁwvﬁ-aﬁaﬁﬁw.mﬂ%ﬁ?_ ' | : -
(@) TEA MA@ @A H (b) W@ F AR T W
(e) TR S F (d) TR W a

14



W . 84-90 Pt waier Y m@mﬁmﬁmmmtwmﬁﬁw

wit 3w ur FrewT e

T 9 W%nﬁﬁméﬁmﬁwwmlmmmﬁwmwwgﬁﬁsﬁa—a@
Y I WE Te F el S o oy e o 3 9F 39 ol ) T ® 9 e S
T AT T H THhe TEYH TH AW IDA T aGH WEh | g6 @ @ A R S aw erdt }, e
TS TR WA 91 We I@ A o H U9 &, “ai‘gq@nmﬂ:aﬁtz’rﬁ?ﬁ”%mﬁﬁ%@m
| ﬁaﬁﬁmwmﬁmmlwaam

84. wﬂaﬁmﬁmwwwma | - :
(a) GOM F W - (b) TR & W

(c) oMFa F AR @ g FE
ss._sﬂaag,w@ﬁgm—maﬁawﬁaﬁawawﬁaﬁ

(a) Tt | (b) STHO

(c) TRy - (d) W
se.mﬁﬁﬁ%mmmn@@%m?

(a) ¥ =l | (b) W

(c) WHE HT W En

§7. OTFT TR F ANANE "

@3 | (b) R

_(c)g&ﬁaa | @) gdr
'_ss.'mﬁgﬂﬁraﬁmﬁww%a . .

(@) Rbrdt st (b)) oefEY W

() §E TRI B - ) S w

_'89.mfnﬁ1%eﬁqﬁwnwwﬁ? .
(a) o : ] (b) ~ THG

(c) gk S () e
.go.a—s—mﬁwg,ﬁgmaawmaﬁmv

(a) TR ) WH

(c) W = - - @ T H

15



91.

.92,

93,

94,

95. -

96.

97,

@ Xy

foAare/Maths

"Slmphfy 3( Y64 42500 J_

1132
1134

(a) (b)

© 114 (A

The ISquare root of (7-1—3 \BJ (7-{-3 \6) is. |

@ 45 b 2

(© 4 @ 35
5B o

If 144 12 then the value of x i

(@ 1 (b) 12

() 13 (d) 25

The number of perfect cubes between 1 and 1000

IS

@ 8 (b) 11

() 13 @ 15
The unit digit of cube root of 226981 is
A 1 ®) 3

¢}y 9

) 7

x* y* is equivalent to

9 x y’ dwx y

® x*

(cy «x y"-' 3xy x .y
3xyx.y

What percent of §. 25m 18 75 cm?

150, T,
0
@ ® 7"
80, 100
% %
©@ 17 T

91.

- (<)

7 9 3J" \/oa ‘*sto J"
(a) | oy 1142
114 @y nis

92. (7+3 \BJ (7+3J§)ET eaar;m atdar?

93.

94..

95.

96.

97. -

16

. (a).

@ .5 (by 2

() 4 @) 3fs

FIHEH/ lx. ma%aTxETHB'a’raearr? :
® 12 - |

(C) 13 C(d)

95

1?1060?@??333%%»#3?%.

Afret 95 fraat fe s weos?
(@ 8 (b) 11 |
€y 13 dy 15

'226981 ¥ WEHE € fearet v i at d=ar ?

@ 1 (b) 3
© 9 @ 7
X8 f wWETY: |
@ x v’ 3xyx y

by * ¥y

(c.) x y  3yx oy

.(d'_) ¥ ¥ 3xyx y
75m,8‘zsmza@f’é%qs‘my%‘r?
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.98.

100.

101.

102.

103.

104,

1S,

() 145°

(c) 5822 {(d)

a) 425

@) 10 ()
{c) 10 - (d)

In the given figure AOB is.a diameter of a circle.
If ZABC = 60° then the measure of ZCAB is

a) 60° C

by 30°
(c) 90°
(d) 45°

Find the angle which is made atthe centre of cyclic
pentagon with their sides

a) 36° ' (b)
(c) 144° C)

108°
720

In the given fi gufeziA= ZB=90°, If x = 55%then.

the value of y is
a) 55° :
(b) 65°

(c) 12%°

What will be the number of digits in the square
root of 12343217 ; '

2 2 by 4

€ 6 (d) 3

What will be the cube of number 18?2
a) 5842 {b) 5832
5852

What will be the value of (287)°2
2) 287 ) 28
(cy 87 . dy 1

Wat will be the value of (25 )7 % (25 )3 ?
(b) 625
() 325 (d) 525

. : 4k
What will be the value of [13 +2' 4374 43]2 '
100
120

98.

99,

100,

101.

102,

103.

104,

105.

17

. (a) '60°
by 30°

(d) 45°

© 325 (d)

feg fdag few AOB Sa9 & fow J1 Fag
ZABC = 60°3= It LCAB T Wy &t J<ar ¢

{c) 90°

WWWWWWEW

- FEEdT THY YT 91
(a) 36° (b) 108°
(c) 144° i (dy 72°
o3 foaw feg £A= £B=90°T, "&9 x = 55¢
RSty ymugrag| ' '
(a) 5%°
(b) 65°
(c) 125°°

(d) 145°

-.12343_2'1 Hﬁwémwmwﬁﬁm‘aﬂ

- st 3=t
@ 2 (b) 4
() 6 @ 3

- FfipdT 18 v W ot F=RAr ?

(a) 5842 (b). 5832
(¢) 5822 (d) 5852
(287)0 enji;ﬁéam

(a) 287 (by 28
(¢) 87 | Cd) 1

(@s)x (s )i € HE I
(a) 425 by 625
525

P +22 434 0]2 T imdzam
(a) 10 (b) 100
(c) 110 (dy 120



106 Each diagonal of a gquadrilateral is 24cm and the
diagonals are right bisectors of each other. Which
special name is to be glven to this quadilateral?

a)

(b

(©)

@

107.

108.

109.

110.

Square
Rectangle :
Rhombug

-Trapezium

Which of the following statements is false for a

a)
(b
(©)

(d) -

- square.

Each angle is 900

The diagonals do not bisect each other
The diagonals are equal '
Opposite sides are equal

Which of the fdllowing statement in félse

2)
(b)
(¢}
(d)

Each squre is calle a rectangle.

Eah rectangle is called a squre.

Each rectangle is called a parallelogmm.
Each trapezium is called a quadilateral.

Which is the smallest even prime number?

a)

(b)
- ©

(d)

TSI N Y

What will be the squre root of number 5

a)
(b)
(©

@

2236
2,523
3.541
2.812

" 110.

18

106.

107.

108.

109.

feer ggagw @ g9ar fease o Hart 24 AN §
w3 feaae feg gr © &9 mideaa 95| fam

(b

(o)

(d)

- 9gagH § foos fein & fegr arsar |
(a) - '

&It
e
HHIZdgH
HEY 9g9gH

=931 et faoar qus &t &dt T

(a)
(b)
(c)
(d)

W IT 90° TYETF| o
feage feg gr & ST wAa &dT g€ 1

fegae wrs 92 051

ASHY I AHTS T 35 |

Jo fovtnt feg fagsr dEs a3 O 7

(a)
(b)

(c) .

T =T & wrfe3 faar A raer I

T wrfez § waar faor 7 Raer 91
g9a wrfes & AMIST ogdgd faur AT
e I

(@ aﬁamﬂduaﬁausugﬂmw
: Ha@ftn -

"g 3 &3¢ fang wigve fifipnr 37

@ 4 | ”

(b) ©

() 6.

d 2

(Y

Ay 5 €7 TgayS d=ar 7

(a)
(b)
(©)
(d)

1 2.236

2.523
3.541
2.812



IS

112.

113.

114.

115,

116.

. 3fga fefars /Physics

The SI Unit of Potential differen.ce_ is

a) Ampere (A)
b)  Volt (V)

¢} Joule (1)

d)  Watt (W)

“The main Constituent of biogas is

a} Methane

b) Carbon dioxide

¢) Hydrogen

d) Hydrogen sulphide

To hear a clear echo the distance from sound
source and the reflecting surface must be at least.

a} 10cm
b) 12c¢m
¢} 15.2em
d} 17 2cm.

At centre of earth, the value of acceleration due
to gravity is '

a) Zero

b) 9.8 m/sec’

¢} 19.6 m/sec?

d) 29.4 mfsec®

The device used for producing electric current is
called

a)  Motor

b)  Generator
¢) Ammeter
d

Galvanometer.,

Fuel used in thermal power plant is

a}  Water

b)  Uranium

¢) Biomass

d)  Fossil fuels

19

111.

112.

113,

114.

115.

116.

UZH® nr3g =t Sl fegmdt oty ?
a)  MHUTHT (A)

by =% (V)

o Q)

d} =T (W)

TieGdm o iy wed fausr 37
a) WiEw _

b) TEEHS FTEATRAEF

c) TEFHE

d} TEEHS TEREF

Y9 et uie-ule oot fast deaht 2

al 10cm
b) 12em
¢} 15.2cm
d) 17.2cm

st € aeY I FgTT o y&dr fasT g=ar?

a) wie _

b} 9.8 Ht /Afg=?
c) 19.6 Wt /Rfas?
d) 29.4 W./AfEs?

farret e fer aus TH AT e A AV

a) W&
b} AEIET
¢) nhhited

g7 . :

a) U"E'T

b) WedMM

¢ e

d) uESe IBE



1i7.

118..

119.

120,

121,

122,

If three resistors of resistances 4 ohm, 4 ohm and
2 ohm connected in series combmauon then
equivalent resistance IS _

a) 1ohm

b} 32ohm

¢} 16 ohm

d) 10ochm

The speed of sound will be greatest in
a) Air :

b) -Vacuum

¢) Water

d) Metak

En concave mirror, an object is placed between F

and C, position of image, size and nature will be_

a} Beyond C, enlarged

h} Near C, enlarged, real & inverted

c) Entarged, real & inverted |
d} Bevond C, enlarged, real & inverted

What will be the unit of frequcncy‘?
a} Meters :
b) Hertz

¢} Centimeters

d) Kilometers

The pemlanent.{magnets made of

a}. Al Ni, Co
by Al Ni, Fe
¢) Al Zn,Ni
d) Ai, Ni, C

Which planetis known as morning or event ng star?

a) Jupiter
b) Mars
¢} Saturn
d) Mercury ..

117.

118.

119.

120.

121.

122.

~a)

frarg 5 yfgauat o yFiow 4 69, 4 Gow o
2 G & Bt o fSw wferr w2 37 98 yfsen
faar G2 ?

a) 1Gaw
by 326
o 16GoH
d) 10 6zn{'
ua’fe’rmﬁhﬂfeaﬂga'fmwa?
a) I=T
b) fegeg
¢y yat
d) gt

WeIH TouS ¥T =Rg F 3 cofeyggdd
st yJifem <t wfast, us%féawnna*aus’rfaa. l

| g O

a} CQ'UH T

h) C& &=, 3, wAslwad UaT
c} ea*,nmﬁwyar -
d) CTud, I8, wABt M3 UsT

wrfegt & feqratat 9 ¢
a) Mieg :
b) gded

¢} Hetited

d) faiites

sifyg g fam e gfor Jev 32

a) HEBMHBHH, &8s, dage
b) WBlsh, fas, B

¢} ABitetn, e, faws

d) HBHIE, foa®s, qows

faw 373 & A=Y AT A T Fw faor weT d?
b)

c)
d} -

It



123,

- 124,

125.

126._

127,

128.

grfee fefapsms/Chemistry

By which method we can separate different 123 g fogutyt Sy-3y SRt & fan fedt omrar Sy

components of air
a) Liquifaction
b)  Evaporation

- ¢} Filteration

d)"  Fractional distillation

Name of acid formed in stomach
a)  Hydrochloric acid

b)  Sulphuric acid

¢} ‘Acetic acid -

d) Nitric acid

Which of the following is used i in refrlgerators
a) = Hydrocarbon :

b) CFC
) O,
d) NO,

Which of the followmg do not glve CO, on-

decomposmon

a)  NaHCO,
b) CaCO,
¢y KO,
d)  ZnCO,

Arange the comostion of air in the increasing
order of their % age by volume

8) Ar<N,<CO,<0,

b) Ar<CO,<Q, <N,

¢) Ar<QO,<N,<CO,

4) CO, <Ar<O,<N,

Which of the following is most reactive metal
and non metal

a) . Pottasium and Phosphorus

b) Silver and Carbondioxide

¢) Gold and oxygen

d) Iron and Neon _

21

ST AT S 7
a) getags
b) TwUlads
o) fesegagar
d) WA IHIES

124 .fige R faugr g geer &
a) TEtsT aSfea wins
b) n&feQfsa #irs
c) wifafex #fas
d) ?;ra"rfaarﬂ‘fﬂa'

125, ﬁnmhvhawuaﬂ’ts"ora
‘a) TEIEIAIES
b} CFC. -
¢} O,
d) NO,

126 fowes RS fagam gee 3 €O, a4t fer
a) NaHCO,
b} CaCoO,
¢ K,CO,
d) ZnCo,

127 w%wa@are"’r% Hwemwmeu%gn
fea’ == .
a} Ar<N,<C0,<0,
b) Ar<CO,<O,<N,
) Ar<0,<N,<CO,
d) CO, <Ar<O,<N,

128 m?éuhh@wwvéme?ﬁaaﬁl
a) UM w3 THEH
b) fﬂmmymmum
c) &Y mMI MOHTS
d} wfeds wa fanrs



129,

130.

131.

132,

133.

134,

How many carbon atoms present in butane
hydrocarbon.

“a) One
by Two
c) Three
d) Four

Which of the following is the inorganic acid
among the following acids.

a)  Citric acid

b)  Ascorbic acid

¢) Amino acid

d) Su_l'phuric acid

Which one is alkali among these bases
a) Copper oxide
b) Zinc oxide

“ ¢} Iron oxide

d) Sodium hydroxide

Which metal con displace hydrogen from acids
a) Zing

b) Mercury
c) Silver
d) Gold

What is the chemical formula of the washing
soda.

a) NaCO, I0H,0

b) NaCO,

¢) CaCO,

d) ZnSO, THO

- What is saline water?

a) if 1% salt is dissolved in water

b) if 0.5% salt is dissolved in water

c) if 2.1% salt is dissolved in water -
d) . if more than 2% salt is dissolved in

22

129&@%@@&3&?%?%%_
U?"J?ﬂ
a) fEm
b) €
c) fa=s
d)y I9

130.feg" vt f$9 wargefas v faggr a7
a) frefaer s .
b) ARdefaw A
c) Wtd s
d) wefe@fea wims

131 fegst wrat &9 fagst weast &
a) HUG WIEIAES
by fAa wramrets
¢) MEEE WERES
d) A TEBTaTEts

1321‘2@%%&33?@%&?@3%?'
fereus aget 31
a) fHE

~ b) HIaEdt
¢) Taw=e
dy F&xT

133.mﬁu3wn¥?anrfaﬁwg€aa?3?
: a) Na,CO, 10H,0

b) NaCO,

¢} CaCO,

d) ZnSO,.7H,0

134 4T yrA S T 7
a) fARfET 14 gz w8 3=
by AR 9 0.5 %« BT W& I&
o) frAfem2ugswdde
g fRfEg2% FEUET s



135

136.

137.

- 138.

Hle fefamis/Biology

. Myelin sheath is an outer layer it covers which

of the following
a) Cyton

b} Dendrites
¢) Axon

d) Spinal cord

‘LOCK JAW’ is the name of
a)} Tetanus
b} Whooping cough

~¢) Cholera’

d) Tuberculos1s (T. B)

How many molecules of hemdglobin combines
with 4 molecules of oxygen to form oxy
hemoglobm

a) |1

b 2
¢y 5
d) 7

Sundew is a example of which heterotroph plant.

a) - Total parasite

b} Partial Parasite '
-¢)  Saprophyte _
d) Insectivorous plant

139. In which part of Ear, semi circular canals are

present which helps to maintain the balance of a
body '

a) Outer Ear

b) Middle Ear

c¢) Internal Ear

d) Outer & Mlddle Ear

23

135, ms?f&wfawafeaama‘rmi’rfezrmhﬂg
gaetd? -
a) AEEE (% AE19)
b) FFoEW :
¢) BE-RBUT HTRE)
d) HUHET &THT

136. ‘APfan er e Jer ereneT 5T At d 7
a) ZeEH '
b) T YA
¢) oHr
d) 3ufes

137. hiardfes @ fad mig, wanlias § 4 wiewt 515
ﬁmﬁ“m‘raﬂ"rszwmfa?;wr@‘eaal '
a) 1
b 2
¢y 5
dy. 7

138. FI?ifB‘@(Sundew) ﬁzr%umrﬁwé“ e‘r@@m
ar
a) YIE YIHier
by wfer ugwtet
c) fyz et _
dy &te»raat i

139. &% © faag gray feg »au Sa9t svatmt gatmt
95, 1 el Agss et Sve fég aofesT -
HITPHT TS 7
a) grgat Far
by &g gar
¢) wegat I -

d). gwdt 3 fewsw gar



140.Mercury pollutants of water body produce a
 disease of human -
a) -
b}
<)
d)

Minamata
Sili cosis

Asbestosis
Bysisnosis

141. Separation of grains from cut crops is known as
a) Thrashing
'b)  Winnowing
¢} Harvesting
d) Storage

The largest gland in the human body is
a) Small Intestine

b) Large Intestine

¢) Stomach

d) Liver

142,

Reproducing new plants by cells instead of
seeds is known as

a)
b)
¢)
d)

143.

Tissue culture
Hybridization
Amphimixis
Mutations

144, Vitamiin B, is essential for
a)
b}.
)
d)

Preventing Anaemia
Healthy skin and eyes
Strong bones

Clotting of blood

145. The branch of science which deals with the study
of structure, function and Economic lmportance
- of Micro organism is called as..
a) Botany
b} Genetic engineering
o
d)

Microbiology
Biotechnology

140. Ut &9 ‘uar ygma’ WEY &g faast fanrdt
. Yeraee om!

a) Hiater

by frstafan

c) WrEAeT AR

d) fortafrs

| 141. aﬂaﬁmgmé'mmﬁﬁu’rg

&t fargm AveT 31
a)  IrITEY
b) weET
c) TET
d) 9g39E

142,y & wte fg g 3 St gt ot I

a) &dragEt
c) froer
d) frome

143, st 3 wdva, Bt 3 Ufeontt & Qar & ot afird
TS| ~ :
o) fegames
b) TEBTEIE
o wfmREe
d g3 ufs=gge

144. feerhis &, fan w6t aget 71

24

HEHPHT T FeE™ BEt
ST WT YT It SegAESt
Y& T AHET

a)
b)
c)
d)

145, fé'famme’r@zrwﬁwa’r#l?e%w H"‘B‘e‘-l‘ _
- wafgE WIS ©F mitis w9et 3, a”ram@e‘t%?'
a) TERUST EYT
by wg<fay fematmidar
¢) FuM A= fefomrs
d) TfeGas &+



146.

147.

"a) Mangal Panday
148.
149.
150.
sl
- a)} Guru Ram Das ji

152.

154.
- c) Sayyid Dynasty

155.

156.

157,

3'

FEfSZFH/ Hlsto ry

When the first battle of Karnataka fought?

a) 1756 AD by 1739 AD
c) 1740 AD d) 1758 AD

Who helped Jhansi Ki Rani against British’s |
b) Begum Hazarat Mahal

c) Tantiya Tope d) Nana sahib
In which area revolt was started by Birsa Munda"
a) Bihar b) Assam
¢) Bengal d) ‘Mysore:
Where the first jute Industry was set up in India
a) Mumbai b) Assam
¢) Bengal d) Mysore

What was the or-i.ginal name of Banda Bé.had.il_r? '
a) Lachman Das b) Madho Das
¢} Kishan Das d} Amir Khusro

Name the Second Gum of Sikhs?
b) Guru Arjun Dev_]l .
d) Guru Angad Dev ji

Which of the following is not matched correctly
a) Sikandar Lodhi- Agra B

b) Harihar and Bukka-Vijay nagar

¢) Dharm Pal- Nalanda )

¢) Guru Amar Das

~d) Qutub-ud-din- Turkish empire
153.

Which of the following statement is true?

i. Gahangir conquered Kangra in 1620 A.D..

2, Mohamad Gori defeated Prithviraj Chauhan .
in the battle of Kanauj™ .

Temur attacted Indiain 1398 A. D

a)1,3 b 1,2 2,3 d} 1,23

After the dec!me of Tughlaq empire khizar khan
laid the fondant of: _
a) Khizar Dynasty b) Khilgi Dynasty

~d) Lodhi Dynasty
In 1615A.D. The British representatwe sir Thoms Roe

. 150.

151,

succeeded in obtaining trade facﬂrtxesﬁoml\/]ughalEmpemr

a) Jahangir b) Akbar

¢) Shahjahan d) Aurangzeb

In 1856 AD Lord Dalhousie annexed the State of into
British Emplre on the pretext of malad ministration by
the Newab.

a) Awad
¢) Jhansi -

b) Tanjor
d) Mysore

The Partition of Bengal took place during the
Governor General ship of
a. Lord Dalhousie
¢. Lord Curzon

b. Lord Harding
- d. Lord Clive

25

'156.

146.

147.

148.

149,

me*uﬁ;wma?afsw?

a) 1756 €. by 1739

¢) 1740 g, d) 1758 €.

SR fusTe gt TRt ot wee fand st ?
a) HA®UTE b) T THES Hiae
o) FFME T d) & afog

faanr i3 & fan fesra féw fevag atar?

ay faory by €t

¢) Hurfamr d)y BeTEaT

m%mmmﬁamﬁw?

g) HEer by AN

¢) HIMS dy WAg

fror goreT O yEwT ST At A ?

a) BeHE TH b) WEEH
¢) fgamsew d)y »nitgund

g & owig g Rfoors At ev st At AT Y
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150,

~ a) Ludhiana
160.
- 161,

162,

- 163.

_ wild animai?

164.

165.
166.
167

. c¢)Nearthe Seas

168.

169.

“¢) Kerala

-a) Wind-

.a) Japan

sam'/ Geography
World’s deepest, ‘Mariana Trench’ exists in which 158, frrg &t Ay I Ta'uﬂ' ‘Yefprprs T fatrar HITATE -

“of the following Oceans
-+ a) Atlantic Ocean

b) Indt_an Ocean

¢) Pacific Ocean c) Southem Ocean

In which of the following cities thermal power
station is Iocated‘7 '
b) Gurdaspur

¢) Morinda - d) Lehra Mohabbat

Fossils can be found in which ofthe following rock
types? :
a) Metamorphic b) Igneous "

¢) Sedimentary d) Acidic

When is the “World Environment Day’ Celebrated?
a) 5 December b) 6 December

¢) 5 June d).6 June '
Name the “largest river basin® of the world.-
a)Amazon River Basin  b) Volga River Basin
c¢) Narmada River Basin ~ d) Satluj River Basin
Gir National Park’ (Gu_;rat) is the home of which

a) Elephant_
¢) Black Deer

b) Lion
d) Stag

Which state of India has the maximum female.

literacy rate? _
a) Punjab b) Assam _
d) Maharashtra

Name the layer of the earth which possesses

maximum elements of silicon and magnesium.

a)Sima b) Sial -
¢) Nife d) Mantle
Name the state of Indla whlch does not produce
hydro elecmclty
a) Himachal Pradesh _ b)Pun Jab
“¢) Uttarakhand .d)Goa

Where does the Delta type of vegetatioo _found? .
a) In the plains b) On the Hills -
~. d) On'the Plateaus -

Which of the following is ho_t a sour¢e of energy? -

b} Geo thermal
d) 'Soi]

Which country is the largest producer of gold in
the world‘? '

c) Water

b) -England :

¢) South Africa d) India
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174,

&vaifed I/ Civics

The opening lines of the constitution of India, starts
with the following words-

a) We, the people of India -

b) We, the men of India

'_c) We, the women of _[hdia :
d) We, the citizens of India

Right Agaiﬁst Exploitation is included in the

-a) Fundamental Rights

b) Fundamental Duties
¢) Directive Principles of state pollcy
d) Moral ri ghts _ -

The total number of nommated members to the

Rajya Sabha are
a) 14
b) 10
¢) 12
d) 15

The President of India is elected by
a) The Electoral College
b) The People of India directly.

170, meﬁwwwmm
HEE! &78% W99 JOvHT T5-

a) WAl 393 © &F

b) miAf 9T & mrent
¢) WAt FTFI Tt a3t
d) WAt 3793 € sranga

371 mfeauwfqa*aamﬁma?s*fmw%—

a)H‘fFSE”‘HﬁIHWﬁG’
- b) Hfsa Fag=t feg
c)wv?ﬂ‘a&ﬁsa‘éfﬂaﬁwgrﬁq
d) afsa mfograt feg

172. g AeT few waste Huat &t o fifer

a) 14
b) 10
cy1z
d) 15

173. mema%mwa

¢) The prime minister and the cabmet of Ministers.
~d) Electlon commission :

_Whlch statement about the representatwe

democratic government of Indiais most correct.
a) Presidential and Unitary government

b) Partiamentary and Unitary government

¢) Parliamentary and Federal government

| d) Presidential and Federal government :

175.

Whtch is the most important pillar of Indran
‘democratic election

o a) Use of electronic votin g machmes

b) Different political parties

. ¢) Election Manifesto

d) Secret Ballot

174.

.a)GE'HEﬂiS'
b3S e BT eSS T IT T

o) yUTs HIE T et HEs 2%

d) S vlas =F
73 et st B 539t wewe 3 foror
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d) YursTIHHS 2 FWTSHE A
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d) IUF H3ES



176.

The Upper house of state legistature is called |

a) Legislative Council

177

b) Legislative Assembly
¢) Lok Sabha
d) Rajya Sabha

‘Which of the following is not a reason of poor sex-

* ratio against womaen in India.

a) Dowry System
b) Well- Educated women
¢} Poor nutrition and poor health.. -

 d) Female Infanticide.

178,

179.

- 180,

It is mandatory to end the election campaign how -

many hours before the day of votm g
a) 48 hours

b) 24 hours

¢) 36 hours .

d) 12 hours

The maximum age for the setvice of Chief Justice
and other judges of High Court is

a) 65 years ' '

b) 62 years

c) 58 years

d) 70 years

Present day Punjab was formed on the basis of
a) Castism

b) Regionalism

¢} Communalism

d) Linguism = -
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